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QUESTION 1

In the following terminal moving speeds are supported for 5G? -MC 

A. 300 Km/h 

B. 500 Km/h 

C. 600 Km/h 

D. 400 km/h 

Correct Answer: ABD 

 

QUESTION 2

Which of the following medical applications does not need to be supported by 5G? 

A. Patient Locating 

B. Remote surgery 

C. Remote robot endoscope 

D. Remote B-scan 

Correct Answer: A 

 

QUESTION 3

Compared with traditional plat preservation which of the following advantages does drone-based plant preservation
have?_ MC 

A. higher efficiency than manual operations 

B. 30% less medicine is used, saving water and protecting the environment. 

C. precise operation 

D. high security due to man-machine separation 

Correct Answer: ABCD 

 

QUESTION 4

Which of the following benefits are bought by 5G to doctors and patients? 

A. more efficient and timely . 
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B. more secure 

C. more economical . 

D. solving the shortage medical staff . 

Correct Answer: ACD 

 

QUESTION 5

With the network slicing technology, operators can increase revnue and reduce expenditure, opening up more service
scenarios. 

A. True 

B. False 

Correct Answer: A 
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